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16U/91/8(i)
No. of Questions : 100
gl N & : 100

Time : 2% Hours Full Marks : 300
| 1
qHq : 2 S gurig : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section -A and 70 in Section - B). Attempt as many
questions asyou can. Each question carries 3 marks. One mark

will be deducted for each incorrect answer. Zero mark will

be awarded for each unattempted question.

4 WT-gRadr § g1 100 (&) w27 € (@S- H 30 T
GUS-q H 70 ) | STehIRn T B BH HIA BT B\ TA
g9 3 (d9) oieht =1 21 y@w Tow gww F A 0w o
FIE A | % IR % F A o &

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

A% T dpftes Srewdt SN B Rree S8 & 4 e
& Ix F1
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01.

02.

SECTION - A
gvs - J

Which one of the following should not be the first period activity ?
(1)  Flag hoisting

(2)  Assigning homework

(3) Announcement of the day's activity

(4) Cleaning of the classroom.

Fr=T § 9 fhe fopar 1 geell 581 § =&t & =nfed ?
(1) eoeeT

(2) e HE Fr AT ST

(3) & wY @l Fhursti @t go=r &4

(4) el B GBS HAT

Teacher knows that each student of his class is different. Which one
is the best way to handle his class ? -

(1) To coach slow learner after school.
(2) To ask bright students to study in the library.

(3) To ask other students to teach other students.
(4) To organize groups for specific purposes.

qzsmwmaﬁaaaﬁﬁr%ﬁswaﬁaﬁaﬂmrqﬁzﬁw%%a
G;q:ﬁaﬁm%mﬁ@faazrmaﬂﬁamwﬁmaﬂww%?

1) e & IU BT B B PHAT F

2 @ﬂgg@%mﬁiﬁwﬁq@%mfﬁﬁl

@mﬁzﬁmwaﬁu@%%%ﬁml

(:2) éﬁﬁg@aﬁ%@mmwml



03. The best method for a teacher to adopt with a pupil who frequently
stammers in class is to : .

(1) Afford the child ample opportunity to recite to the class.
(2) Ignore the child.

(3) Suggest that the parents seek professional help.

(4) Keep the child after school for individual help.

U ITATIF & [ el § sha did god I TR B B
HEH IugET ol g8 B f6 ag '

(1) B @I H&M & F97 H1 G@T STTET T&TT HY |

(2) BT H IULT B

(3) SN I s | T A9 H g I

(4) FomE & SR BE H AR e w1 D [/ A |

04. A class t'cfacherv-has been assigned to look after the school library
management. The teacher's top priority should be to make sure that :

(1) . no books are lost or damaged.

(2) only books that are popular with the children are ordered.

(3) the library is used appropriately by maximum number of children.
(4) Children are quiet while in the library.

T T :
(1) G G 91 G | Y g |

(2) aﬁf%%ﬁa‘rw_@:ﬁmaaﬁmm,

(3) stﬁamammmﬁl

(4) BF S gEIehrTy § g dl MR 7
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0S. During the first parent teacher conference of the year, the teacher

06.

should do all of the following except to :

(1) include the child, when appropriate.

(2) encourage the parent to talk about her child.

(3) disagree with the parent's philosophy of child reading.
(4) offer a cup of coffee or tea.

Iu & g SreATgE Sifrdad G § B § 9 u% @) 8IS
B G P TeAgH B BT AMRY

(1) St Sha &t ar s=9 & it gfafea s @fzd )

(2) SARTHEGS B AU T B R A 91T B B o AR BTN
- i |
(3) == B YST-UIST B SHHEE B 20 A AGSHT ST IS |

(4) UF T T ar HIBT A FH U o7 i |

All of the following statements about children are correct éxcept that :

(1) Older children in elementary school are less prone to illness
than younger children.

(2) Many children do not eat proper breakfasts.

(3) Children like teachers who are firm and consistent.

(4) Girls are superior to boys of the same age in mathematical
abilities.

o a=) B R P HU A & A Blg H W wE R

() et Rt 3 23 =, SR ae 1 ge § Sl & s
el B

arfrepier @== IfeRT A & P |

(2) o
o3 o ST B R e B € SN 3% O gE A

(3)
g
m %ﬁmﬂawama&mﬁmﬁg,
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07.

08.

If parents ask teachers about their children's television habits, it is
best to suggest that they :

(1) prohibit television viewing by children.

(2) allow children to watch only those programmes selected by the
_parents.

(3) encourage family viewing and discussion of jointly selected
programmes.

(4) give children freedom to select whatever they want to see.

IR AHIGH STEATE | OUN T= B iAo @ i &
® AR § g8 O qEq o=\ YA J€ &0 F J :

(1) s=at 1 ehfas 3@ A% £ |

(2) == B Baw AU BN =AG HAHH @A H STFH & |

(3) uRaR & @y gieakig &7 & &t 3@ 9 @ w9 |/ Jad
FrdpAr aX e Rmst $3 @ diedigd B

(4) =t B ST FB N @ 9’ IqH G & |

Sohan and Mohan have the same mental age of 8 year. We can infer
that :

(1) they may have the same potential for success in school.
(2) they may have the same IQ.

(3) 'their ability to learn may be quite different.

(4) they have copied from each other on the test.

dies o A # Ais gad & B,
P R E Y e o i

(1) - Sl faEmra & gbear @t T S &
(2) BN 1QUH ST & Hebell B

() IT-grER @ A H R A e B
(4) SO ¥ A O g A T A
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09. Of the following the most important factor for learning is:

10.

11.

(1) ability to read (2) a good book-

(3) desire to learn (4) a good teacher.
Fret & & siftemr & R wad et @

(1) 9& & Fraar (2) U or=H fraE
(8) W # g (4) TH =BT ATF

If a teacher is dealing with a challenged student, the best thing to do
for him is :

(1) to feel sorry for him.

(2) to sympathise with him.

(3) to ignore him.

(4) to train him in self-help techniques.

HR AATYS Bl fobell AN B (TG BE) & A AR
ST A A IY = o

(1) IEP FUR 5@ T H2 |

Q) SEd @ gErgER R

(3) I SIS &HT X | _

(4) S @A B BHIA B TUD HT ARTET |

If the following words are arranged as per dictionary, which serial will
be appropriate :

W@Hﬁﬁﬁmmﬁ%aﬁwaﬁw—wmmm?

) Preface, (ii) Plucky, (ili) Punctuate, (iv) Purify, (v) Plentitude.
1 ’ . sue 0w ww

(1) v, i, il 1V (2) v, i, i, ii, v

@) v, it b1 (@) v, i, iv, i, il



12.

13.

14,

15.

Complete the series :

T A0 B g Y
3, 9 27, B1; s )
(1) 144 (2 270 (3) 162 (4) 243

In the following sentence mention which word out of the choices
given provides the best answer :

A school always has _ _
(1) Teacher (2) Class (3) Classroom (4) Desk

ﬁw%m%mﬁmmaﬁ@%ﬁﬁsmwéw
I & :

TF e 7 gqer gar & -

(1) 9&ENS  (2) e (3) HET HH  (4) F
Communication : Message : : ?: ?

(1) Humour : Amusement (2) Expression : Words
(3) Clarification : Doubt (4) Radiation : Cosmic
TGO ;|9 f: ? : 7

(1) & : FHRe (2) oT¥=ERR : g

(3) TIEIHTT : giepy (4) TafpTor : R

[f MPOEPO means LONDON, what does NPTDPX mean ?

R MPOEPO T sifimpy 2 LON
DON & NPTDP
S 2 e S

(1) MASCOW  (2) aMosco (3) Moscow (4) MOSEow

P.T.0.
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16.

17,

18.

19.

I go towards south, then turn to left, then left again, and then right.
In which direction am I moving now ?

(1) South (2) North (3) West (4) East

# aferor fRem &Y S € R 9@ gear g Y 9@ g S
Wﬁtmﬁ%ﬂﬁwﬁmﬂ% e

(1) afeyor 2) I (3) uf=H @) 9@

Which letter is ninth to the left of thirteenth letter from your right ?

B ARy q 13 F @M UX R R § 9 F W U A

e Reg 7 7 _

(1) S 2) H " (3) E @) G

Ramesh is 5 years younger than Rekha and Giri is 5 years older than
Seema. Sahil is double the age of Seema and Ramesh is 2 years older
than Giri. Sahil is 6 years old. 7 years ago who was the youngest ?

(1) Ramesh (2) Rekha (3) Giri (4) Sahil
ﬁsri@ﬁsaé@a%eﬁﬁ'ﬁzﬂmﬁsaﬁaa%im%ﬁ
ﬁw@m%iﬁgﬁ%eﬁrﬁﬂﬁﬁﬁzaﬁm%lmﬁﬁaﬁ
Sq 6t 3 7ad Ted GaQ Bie @ AT ?

(1) WA (2) @ @) R (4) @Ied

In a row of students Ashok is 4™ from the left while Gagan is 17 from
the right. When they exchange their position, Ashok becomes 6%
from the left. How many students are there in a row ?

frenfefat dﬁﬂﬁaﬁﬁiﬁ?ﬁwﬁfﬁﬁﬁm%mﬁimm
Waﬁa‘gﬂaﬁ%iaﬂ%mﬁmwﬁwmmm
Waﬁ@(weﬁm%tﬁﬁaﬁaﬁﬁﬁaﬁﬁmtﬁ%?

0 20 @) 21 (3) 22 (4) 23
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20.

21.

22.

it il MR Bt 1o |

Find out the missing number :

3TE EE&AT ST hifra -

124 | o
8 ?
6 13| 6
(1) 3 2 11 (3) 10 4 9
NTSEstandsfor—

(1) National Talent Search Examination.
(2) National Teacher Selection Examination.

(3) National Teacher Search Examination.
(4) National Talent Selection Examination.

o7 & Qg § ® :

(1) Ae¥eT = T TR |
(2) AT FER AdFH ST |
(3) A e | sgentAe |
(4) AT = ]I AT |

Which is NOT true for National Curriculum Framework (NCF 2005) ?

(1) provides tht_a framework for making syllabii,

(2) provides the framework for developing textbooks,
(3) provides the framework for teaching practices.

(4) provides the framework for teacher selection.

11
P.T.0.



23.

24.

A HUARGTH Ba® (T T 2005) & [ 1 q@9 AL B 7
(1) @& Jreasmd FEfer & A Baas 9a= &l 8 |

(2) A& TEAYETH F FHACT H KA HEah LT BIA 2

(3) e fareror & R BHad TEH HET B |

(4) F% famerr waw & R HEaH G B |

Recently, who has been appointed as Director of CSIR-National

Chemical Lab, Pune ?
(1) Thokozani Mazozi (2) Naledi Pandor

(3) Ashwini Nangia (4) Roger Jardine

et 7 1 raa Fraf o om ong otk @ A9 S ad, I
P e & 95 W g o 7

(1) eTeISTHT Hotrotl (2) AR g

(3) gl AT 4) T SRSEA

Who gave awards to schools based on environment-friendly practices
in India ?

(1) CSE (2) NCERT

(3) UNICEF (4) NCTE |

et B AT SR gERT i AT ¥ 7

(1) & @R @ o & g

3) 1@@1’5‘@%@ (4]@@_&%

12



25.

26.

27.

Who has been appointed as new Director of NCERT in September
2015 ?

(1) Dr. Hrishikesh Senapathy
(2) Dr. Santosh Panda

(3) Dr. Vinod Agarwal

(4) Prof. Sudesh Mukhopadhyay

B 7 & frment Pyl o @ € o & @ FRys @ 1w W A
" Y
(1) 2. s9Sa I (2) Sf. =Y gsT

(3) 2. faFre swEm (4) d. g gETEAy

Madan Mohan M-alviya University of Technology is situated in :
(1) Varanasi (2) Kanpur (3) Gorakhpur (4) Allahabad

e g Al Senfe Reafee wet o Red ¥ 7
(1) arroTE () FEYT  (3) TREYX (4) SSTBIETS

What is'the Inclusive Education ?

(1) Male and female children participate and learn together in the
same school.’

(2) General, OBC and SC children participate and learn together in
the same school.

(3) Children with and without disabilities participate and learn
together in the same school.

(4) Children of all religions participate and learn to

gether in the
same school.

13
P.T.0.



28.

29.

gafar R @& 8 ?
(1) &t X g9 o & S § T qY TG S A A

(2) T, SN oK Ty | Uh & W A UF | 9ed 3 AN
AT 2 f

(3) FahelivT Ud Gt 9= U & T A Uh 9T 9ed SR A
SRl

(4) &sht ot B A=, U & e § O G agd ST W A ¥

The number of Central Universities in India is :

ara # ST FeafaEnadi S e /=18 7

(1) 27 (2) 46 (3) 48 | (4) 38
Who was the first Vice—ChanceIlor of Banaras Hindu University ?
(1) Sir P.S. Swamy lyer

(2) Pandit Madan Mohan Malviya

(3) Rai Bahadur Sunder Lal

(4) Dr. Sarvpalli Radhakrishnan

W%ﬁf&saﬁamﬂ%maﬁﬂw@“a?
off &, Tg. @ I @ | 7 A A
(4) f. geuel TEHET

(1)
@) W@ TR X A

14



30. Unnat Bhart Abhiyan was launched in :

(1) September 2014 (2) October 2014

(3) December 2014 (4) March 2015

I AR AREE B g& By @

(1) Ry=x 2014 # (2) STFRER 2014 F

(3) fR&wXx 2014 7 4) = 2015 &
15

P.T.0.



31.

32.

33.

34.

35.

36.

SECTION - B
gvs - 9

Rt & wga ‘o’ sl (Fan Sfaex) Reg wor & Fon ® 7
(1) dfeT () oi@sh
(3) im 4) %=

= o =l =St @ g e g 7
(1) 30 2) 32 3) 25 4) 33

el gd=i #I gfte A STAIe 3G ® €l fawed g :

(1) HAE (2) ST

(3) ST=AreTfAHT - (4) g AYHE TEH
Wﬁu@m%@ﬁwm%mﬁwmm%?
(1) dad FE-erHs 999 (2) Ha AT A
(3) Trad B9 b U (4) YSTAT A
) FEEAROT I B 8 7

(1) gaf (2) &

(3) &S (4) o
‘qﬁnﬁaﬁwaﬁﬁ,mwm’dﬁﬁﬁﬁﬂ-mmﬁw g7
(1) IoT (2) &

@) IS (4) TEH
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37.

38.

39.

41.

sl i S8 il ad Lot Lo

=t ety s # ‘o erss @ gAT fhas Ry Rear oar 7
(1) aofarm & Ry (2 @fr & /A

@) =\ 3 RA (4) omR & R

@mmmwww%?
(1) "9rTaE (2 wam' 3) @@ 4) @

Frafefee & & feed suert ygea 8@ 2 2

(1) faeg (2) s 3) o (4) fa=sr
ﬁaﬁmmﬁﬁamaﬁrgﬁaﬁ

B WY A A T HOA F, S STqAA Y X A T
gl

1T



42.

43.

44,

45.

T @ & R # prEr w= @ e Rea g (Rf) @
gHsIrT ?

(1) fre 2) fa@m s
(3) WHEE & (4) @R SENT &

P A w= aqgHa E © 7

(1) oifE (2) @ (3) R (4) fForar

arEd § @ | B 7
(1) & (2) O (3) = () foret

ST ot feet # fpe W & omar § 7

(1) orE (7)) wRE (3) (1) W

46.

s @ G €
2) el R T

(4) AT T

(1) e CE2N

(3) gt 9

18



48.

49.

50.

S1.

52.

53.

(1) & (2) am (3) T (4) sH

YT B R s T wsAT ¥ L. 39 ST & S B
(1) 2™ (2) o=t (3) = (4) SEE™
AT H ST FHRT

(1) PR 2 = (3) ar (4) e

(1) =HeamEgg (2) 9= (3) wHa (4) 2 gt

SHIRT 91T T BT AT pr aref T -
(1) S T (Qj_c?har%w
(3) IS &St AT HAr (4) BT aftsmy Hwar

U T T BT P
(1) gs¥er (2) =T (3) 9d® (4) I

19 P.T.0,
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54.

55.

56.

57.

58.

59.

§ = 4f W4

“Wﬂﬁaﬁi@ﬁ%,aﬁﬁqlq@aaﬁ@%”ﬁﬁﬂ-wm%?

(1) STy 2) a|adE  (3) FTR (4) <rid

FAE i w@ |t ?

(1) oTsZTaeT 2) wTwEsr  (3) fHwfa (4) e

SRR Hdl & ?

(1) =it e 2 v (3) e (4) 9
TOHeHE TaE: F: ?

(1) S (2) VL (3) TG (4) oTEH:
ITHERTE AT e TG |

(1) WET9RAA () TEEOH

(3) foeoqgaem (4) AT
‘Frrei-a'miﬂa?ft%arﬁtm’gﬁl .......... IHY_|

(1) usdtereEfd () WO

(3) FHRET (4) ferggarerad

20



60.

61.

62.

63.

64.

65.

e fogefta 7 frany ..........

I 39T F: AqER; ?
(1) &g (2) <

AR s fawfs, a=+ 9 foraq |

(1) e, Tehaery

(3) =g, Ty

&+ I T U e |

QTR 954 |
(1) fo=r: - (2) sfgEs:

(1) @y (2)  WHisaq

T s whufrde g |
(1) aar + g

(3) 9+ g

T S & W ?
(1)
(3)

21

(3) <hI:

(3) @

(2) uHl, Twasy

(4) T

(4)

(4) W<, THeET

(3) *sAq

(2) 41+ &d

@ @+ 99

(2) g
4) &<

(4) & ¥y

PTo.
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66.

67.

68.

69.

70.

T T vy faed |
(1) <+ &aq 2)

Ty T woud ford |
(1) =3 + qq 2)
(3 T+ qE (@)

‘yerepre:’ Td 399 faEd |
(1) 3‘{ + dhlel: (2)

(8) 33& + SR @)

RURSIE SN
T+ TAq

™ + g1
™+ ™1

3t + F

sl + W

. Tt Tty g FHaTe) IREd $e |

(1) §: 9 T | (2) o T TE |

(3) §; 7 Tfsafd | (4) @ 7w TS |

‘WWW’WWW|

1) e o | @) ¥ 7w
3 § 7 T @) 3 T G
(

22



71.

72.

73.

74.

7S.

76‘

Wy ey

(1) 9: Y& 9317 | (2) ™ T 9Sfq |

(3) o Y& vfewfy | (4) I T 934 |
ATre T ww: ad |

(1) wforfq (2) wasSfel:  (3) wuTE: (4) HfTe
e Siwr=: . T yadE: |

(1) < (2) T (3) = (4) T
F7 TR || 2

(1) vougwm (2) Hwiew (3) wrewW (4) gRY
A Hfa vaf< 2

(1) =9 (2 =®R 3 = 4) @
ST *Hfa waf 2

-(” ELH (@) YmER (3) =g (4) q{

23
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77.

78.

79.

80.

81.

ST 3R T g fagfeme: $9 9dd ?
(1) MY (2 @ (3) feewdt (4) AT

The students called off their protest after the Vice-Chancellor

intervened. What is 'called off ?
(1) An Idiom (2) A Metaphor

(3) A Phrasal Verb . (4) A Predicate

Whose famous line is the following one ?
"Studies serve for delight, for ornament, and for ability."

(1) A G Gardiner (2) Aldous Huxley

(3) Francis Bacon (4) Joseph Addison

Who among the following is an English Dramatist ?

(1) Chaucer (2) Ben Jonson
(3) Cicero (4) Aeschylus
" Train to Pakistan”" is a novel by whom ?
) Mulk Raj Anand (2) Khushwant Singh
- 4) Amrita Pritamn
a Rao (
@) R

24



82.

83.

84,

85.

86. '

16U/91/8(i)

What is the meaning of the word '‘GENRE' ?
(1) Types of human genes (2) Gentility

(3) Category of art of literature (4) Genocide

What is the verb of the word 'PREDICTION' ?

(1) Guess (2) Profess

(3) Predilect (4) Predict
What is the adjective of the word 'COLLEGE' ?

(1) Collegium - (2) Collegiate
(3) Collegial (4) Colleagle
Which of the four options mean’'s ‘noisy argument' 9
(1) Alteration (2).. -Alterration
(3) Altercation (4) Alterccation

Showing great energy and enthysjasm IS called -
(1) Jealous (2) Zesloyg

(3) Gealous (4) Joculgy

25



10U/21/511)

87. What is the synonym of the word 'PROVISIONAL' ?
(1) Temporary (2) Periodical

(3) Definite (4) Confirmed

88. Which of the following word is closest in meaning to the word
'PROVIDENCE' ?

(1) Luck (2) Provision

(3) Pride 4) Province

89. Which of the four options is appropriate to fill the blank in the

following sentence ?

doing the cooking my mother looks after the garden.

(1) Beside (2) Besides

(3) Although (4) Though

read or write. Which of the four option is appropriate

90. He can't «-eeee
51l the blank
) N (2) Either
@ only @) Butalso

26



21/8(1)

91. Which preposition is suitable for the blank in the following sentence ?
......... the end of July I will have finished all my works.
(1) At (2) In (3) Around (4) By

92. Which of the four option is the suitable answer to the blank in the

following sentence ?

Three miles ........ a lbng distance.

He admitted taking bribe,

(1) Auxiliary verh (2) Adverb
(3) Gerund (4) Clause

94. What is the plural of the word 'LOAF' ?

(1) Loaf (2) Loafs
(3) Loaves (4) Loafds

95. What is the noun form of the worqg 'COLLUDE' ?

(I) Collide (2) Collusion

(3) Collision (4) Collude
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96. Which of the following is the correct uncountable noun ?
(1) Luggages (2) Luggage

(3) Lugagges (4) Lugagge

97. Which of the following is a distributive pronoun ?

(1) Whose (2) Herself (3) Mine (4) Every

98. Choose the'appropriatc passive voice of the following sentence :

They are repairing the bridge.

(1) The bridge is repaired by them
(2) Repairing is being done by them
(3) The bridge is being repaired

(4) The bridge was being repaired

99, Choose the correct indirect speech of the following sentence :

'Who lives next door' he said.

(1) He asked who lives next door.

(2) He asked who is living next door-
asked who could live next door.

(3) He

@) He asked who lived next doof-
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100. What does the idiom 'go like a bomb' mean ?

(1)
(2)
(3)

(4)

To explode suddenly

Be very calm ang explode.
To go very fast

To lose one's menta] sanity.
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